

## Multiply by $10^{-1}$ (J)

Find each product.

$$42 \times 10^{-1} =$$

$$37 \times 10^{-1} =$$

$$98 \times 10^{-1} =$$

$$94 \times 10^{-1} =$$

$$83 \times 10^{-1} =$$

$$16 \times 10^{-1} =$$

$$28 \times 10^{-1} =$$

$$75 \times 10^{-1} =$$

$$93 \times 10^{-1} =$$

$$10 \times 10^{-1} =$$

$$72 \times 10^{-1} =$$

$$79 \times 10^{-1} =$$

$$51 \times 10^{-1} =$$

$$61 \times 10^{-1} =$$

$$3 \times 10^{-1} =$$

$$74 \times 10^{-1} =$$

$$14 \times 10^{-1} =$$

$$67 \times 10^{-1} =$$

$$19 \times 10^{-1} =$$

$$68 \times 10^{-1} =$$